A A+APEX ACADEMY

QUESTION FIVE:

5.1. Calculate the effective annual rate of interest if the nominal rate is
7 % per annum compounded monthly, (4)

5.2, A laptop costing R12 000 is purchased. Determine the

book value of the laptop 3 years later if depreciation is caleulated at
15 % p.a. according to the straight line method. (3)

pto, Question 5.3...
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5.3, R 200 000 is invested for a period of 4 years at an interest rate of
6.5 % p.a. compounded monthly for the first 2 vears. After the
second year R10 000 is added to the account and interest
changes to 8 % p.a, compounded quarterly for the next two years.
Calculate the value of the investment at the end of 4 years, (5)

QUESTION 7

On 1 June 2016 a bank granted Thabiso a loan of R250 000 at an interest rate of 15% p.a.
compounded monthly, to buy a car. Thabiso agreed to repay the loan in monthly instalments
commencing on 1 July 2016 and ending 4 years later on 1 June 2020. However, Thabiso was
unable to make the first two instalments and only commenced with the monthly instalments on
1 September 2016.

7.1 Calculate the amount Thabiso owed the bank on 1 August 2016, a month before he

paid his first monthly instalment. (2)
72 Having paid the first monthly instalment on 1 September 2016, Thabiso will still pay

his last monthly instalment on 1 June 2020. Calculate his monthly instalment. 4)
7.3 If Thabiso paid R9 000 as his monthly instalment starting on | September 2016,

how many months sooner will he repay the loan? (5)
7.4 If Thabiso paid R9 000 as a monthly instalment starting on 1 September 2016,

calculate the final instalment to repay the loan. 4)
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QUESTION 7

7.1 A company bought machinery costing RED 000, Using the reducing balance method,
the machinery had a book value of R20 000 after 5 years.

Calculate the rate of depreciation, (3
7.2 Calculate the effective interest rate if interest is compounded at 5% p.a., compounded

quarterly. (3)
73 Sipho invested B30 000 for 6 wears. The investment earned interest at 12% pa.,

compounded monthly for the first two years. Thereafter the interest rate changed to
10.8% p.a., compounded semi-annually for the rest of the peried.

Calculate the value of the investment at the end of & years. (No other transactions
were made on the account.) (4)

74 Mary deposited R25 000 into a savings account with an interest rate of 18% p.a.,
compounded monthly. Mary withdrew RE 000 from the account 2 years after
depositing the initial amount. She deposited another R4 000 inte this account 3%
years after the initial deposit. What amount will Mary have 5 vears aller making the
initial deposit in this account? (6
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